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Приложение

Пояснительная записка

Рабочая программа учебной дисциплины ОГСЭ.03 «Английский язык» предназначена для реализации государственных требований к минимуму содержания и уровню подготовки выпускников по специальности 080114 «Экономика и бухгалтерский учет (по отраслям)» базового уровня.

В результате изучения иностранного языка на базовом уровне, с целью овладения указанным видом профессиональной деятельности и соответствующими общими компетенциями обучающиеся в ходе освоения программы учебной дисциплины должны:

знать/понимать

· Лексический (1200-1400 лексических единиц) и грамматический минимум, необходимый для чтения и перевода (со словарем) иностранных текстов профессиональной направленности

уметь

· общаться (устно и письменно) на иностранном языке на профессиональные и повседневные темы;
· переводить (со словарем) иностранные тексты профессиональной направленности;
· самостоятельно совершенствовать устную и письменную речь, пополнять словарный запас.

Количество часов на освоение программы учебной дисциплины по очной форме обучения:

· максимальная учебная нагрузка  080114 «Экономика и бухгалтерский учет (по отраслям)» -186 часов;

· обязательная учебная аудиторная нагрузка   - 124 часа;

· самостоятельная работа - 62 часа.

Количество часов на освоение программы учебной дисциплины по заочной форме обучения:

· максимальная учебная нагрузка  080114 «Экономика и бухгалтерский учет (по отраслям)» -186 часов;

· обязательная учебная аудиторная нагрузка   - 24 часа;

· самостоятельная работа - 162 часа.

Промежуточный контроль знаний самостоятельного обучения - домашняя контрольная работа
Методические рекомендации по выполнению
 заданий домашней контрольной работы

Домашняя контрольная работа является составной частью самостоятельной работы студента заочной формы обучения по освоению программы дисциплины и предусматривает письменное изложение ответов на вопросы упражнений.

Домашняя контрольная работа составлена в 10 вариантах, каждый вариант включает текст профессиональной направленности для чтения и письменного перевода и 5 упражнений.

При выполнении домашней контрольной работы рекомендуется:
- внимательно прочитать и перевести текст;

- при выполнении упражнений после текста необходимо обращать внимание на четкость и конкретность выполнения.

Контрольная работа выполняется в обычной тетради с двух сторон листа рукописным, разборчивым текстом. Объем тетради для одной контрольной работы не менее 12 листов. С края листа должно быть оставлено поле для заметок преподавателя.

Допускается выполнение контрольной работы с помощью применения персонального компьютера, шрифт Times New Roman, кегль 12, межстрочный интервал – 1,25.

Контрольная работа начинается с титульного листа, оформленного согласно образцу (Приложение1). Объем контрольной работы – 12-20 листов формата А4. Отклонение от требуемого объема не более 2 страниц. Меньше требуемого объема работа не принимается.
Поля страницы А4 следующие: справа-10 мм, слева- 30 мм. Сверху- 20 мм, снизу- 20 мм. Страницы работы нумеруются, кроме титульного листа.

В конце работы указывается перечень литературы, использовавшейся при выполнении упражнений, оформленный в соответствии с требованиями методических рекомендаций-7-10 источников.

Последний, чистый лист бумаги должен быть оставлен для рецензии преподавателя.

Вариант контрольной работы соответствует последней цифре персонального шифра студента. 

Контрольные работы должны быть сданы в октябре месяце.

Варианты домашней контрольной работы по дисциплине ОГСЭ.03 «Английский язык»

Специальность 080114 «Экономика и бухгалтерский учет (по отраслям)»

Вариант №1.

ТЕКСТ 2
The economic system

There are many forms of economic order, ranging from the mixed system to partially or

completely controlled economies. Economic system is the system that a society uses for allocation

and distribution of scarce resources. Private enterprise means that decisions about what and how

much to produce are the decisions of owners and managers. In controlled economies such

decisions are the responsibility of some governmental agency. There is no economy today that is

completely free of governmental influence.

There are many beneficial services and protections available from government. Any form

of economic order performs certain valuable functions in the life of organizations of all types.

Among the functions of the economic order the most important one is to provide some

means of resource allocation. In a private enterprise the price mechanism performs this function.

This means that demand for and supply of goods and services interact and set their market price.
In the case of regulated utilities, there are governmental agencies such as public service

commissions that determine the rates.

Do you know these words?

demand (for) спрос

supply предложение

means средство, средства

to mean значить, означать

utility полезность

rate норма

regardless of независимо от…

owner собственник

mixed смешанный

controlled контролируемый

УПРАЖНЕНИЯ

I. Найдите в правой колонке русские соответствия следующих слов :

private производить
to produce ценный
distribution частный
service выполнять
to perform услуга
valuable распределение
II. Вставьтеam (not), are (not), is (not).

1. I... a student of mining.

2. Crop and animal farming ... the main branches of agriculture.

3. The manager... in the office.

4. Agriculture and manufacturing ... important in all economies.

5. You ... a student. You ... a manager of an agricultural company.

6. Crop farming ... possible in the central regions of Russia in early spring.

7. 1... a student of medicine, I... a student of the economics department.

8. Fuel... important for all industries.

III. Сделайте следующие предложения отрицательными или вопросительными,

ответьте на вопросы.

1. Crop farming is very important for every economy.

2. Processing is important for all mineral resources.
IV. Переведите предложения на русский язык.

1. There are some new pupils in our group.

2. There is no book on the table.

3. There are many old houses in our street.

4. There are 4 seasons in a year.

5. There is a conference today.

6. There are many large cities in our country.

V. Вставьте нужную форму глагола to be (is/are).

1. There ... nobody in the room.

2. There ... 7 days in a week.

3. There ... something on the shelf.

4. There ... many places of interest in London.

5. There ... many beautiful flowers in our garden.

6. There ... much work this week.
VI. Используя конструкцию there is/are, скажите, сколько:

— комнат в вашей квартире или доме;

— дней в январе/ феврале/ апреле;

— дней/ месяцев в году;

— уроков/ страниц в этой книге;

— студентов в вашей группе.

VII. Найдите в тексте обороты thereis/are. Выпишите их. Сделайте из них

отрицательные и вопросительные предложения.

Вариант №2.

ТЕКСТ 3

Microeconomics and macroeconomics

Economics as a science consists of two disciplines, that is of microeconomics and

macroeconomics.

Microeconomics is the branch of economics that studies individual producers, consumers,

or markets. Microeconomics also studies government activities such as regulations and how taxes

affect individual markets. Besides microeconomics tries to understand what factors affect the

prices, wages and earnings.

Macroeconomics is the branch of economics that studies the economy as a whole. It tries

to understand the picture as a whole. In particular, it studies the overall values of output, of

unemployment and of inflation.

Do you know these words?

to consist of smth состоять из чего-либо
discipline дисциплина
syn. Subject

i.e. (Lat.) = that is

branch отрасль; ветвь; филиал
producer производитель, изготовитель

consumer потребитель

market рынок

on the market на рынке
regulation регулирование
tax налог

to levy a tax on smth установить налог на что-либо

to pay a tax уплатитьналог

How much income Какой подоходный налог он уплатил

tax did he pay last year?

  в прошлом году?

To affect smb/smth действовать на, задевать кого/что-

либо

УПРАЖНЕНИЯ

I. Найдите в правой колонке русские соответствия следующих слов:

inparticular безработица

government выработка, объем производства

price в частности

wage цена

try правительство

output пытаться

unemployment заработная плата

II. Найдите в предложениях сказуемое в форме Present Simple.

Предложения переведите.

1. They are at the airport to meet David Hill.

2. They see David and come up to him.

3. Pete and David exchange greetings and Pete introduces Nick to David.
4. They shake hands and follow Nick to the car.

5. I also sometimes go to Sheremetievo airport.

6. I go there to meet or to see off my friends or colleagues.

III. Найдите глаголы в Present Simple. Переведите предложения на русский язык.

1. After lunch the businessmen resume their talks.

2. Mr. Hill proposes a few external visits.

3. Mr. Smirnov asks him to cut one visit.

4. David agrees to cut the visit.

5. They also discuss cultural exclusions.

6. They agree to meet tomorrow afternoon.

7. Pete is satisfied with the results of the talks.

IV. Употребив глагол в нужной форме, сделайте следующие предложения

отрицательными и вопросительными.

1. The plant (to produce) many different machines for farmers.

2. They usually (to grow) flowers in their garden.

3. Agriculture and manufacturing (to provide) hundreds of new goods for consumers every year.

4. Consumers (to pay) for some extra services, such as medicine, education, transport.

5. This big company (to provide) fuel for many plants and factories in this area.

V. В тексте найдите глаголы в Present Simple.

VI. Задайте 5 вопросов к тексту.

VII. Найдите в тексте ключевые слова и составьте краткий план пересказа.

Перескажите основное содержание текста на русском языке.

Вариант №3.

ТЕКСТ 4

The economy

The words the economy are words we hear or read almost every day. For example, we may

say that the world economy is `in the doldrums`, or ‗the European economy is making little

progress out of recession‘ or ‗the UK economy is beginning to recover‘.

But what does the economy mean? What is an economy? What happens in one? How does

an economy work?

The economy is a social mechanism which answers these questions. The economy means a

system for the management, use and control of the money, goods and other resources of a country,

community or household.

Do you know these words?

inthedoldrums в упадке, в состоянии застоя

recession спад

torecover оживляться, выздоравливать

toholdupwell выстоять, сохранять свои позиции

control управление; регулирование; контроль

community жители одного района, община

household семья, домашнее хозяйство

economy 1) экономика

2) экономия

УПРАЖНЕНИЯ

I. Найдите в правой колонке русские соответствия следующих слов :

world economy общество
to mean ресурс
towork товары

goods означать

resource мировая экономика

country работать
community страна
II.

a) Переведите текст на русский язык, обращая внимание на настоящее продолженное

время.

Record industry against individual piracy

The US recording industry is struggling against declining music sales. So they are

considering legal action against individuals who are copying music from their computers.

At the same time the Recording Industry Association of America (RIAA) is campaigning for the Department of Justice to take measures against those who offer large amounts of music on

popular networks such as Morpheus.

b) Раскройте скобки, употребив глагол в форме настоящего продолженного времени.

Поставьте предложение в отрицательную и вопросительную форму.

1. He (think).

2. They (visit) customers.

3. We (eat) our lunch.

4. Luisa (greet) a visitor.

5. Mary (take) shorthand.

6. You (have) lunch.

7. You (write) a letter.

8. Sheila (interview) someone.

9. I (speak) on the phone.

10. Helen (sit) in her office.

11. The salesman (sell) stationery.

12. He (read) a report.

13. I (put) these books on the table.

14. She (get) on the bus.

III. Раскройте скобки, употребив глагол в форме настоящего продолженного времени.

1. I (to begin) a course in computer programming in a

month (через месяц).

2. I (to go) to the sea in July.

3. Our students (to have) a lecture in economics by a visiting professor from

England today after classes.

4. This student (to work) at his course paper (курсовая работа) next week.

5. We (not to read) for the exam this week, we (to work) at the course paper.
Вариант №4.
ТЕКСТ 5

Economic man

There is an assumption in economic theory that individuals act rationally when they

determine their objectives and then take decisions according to their objectives. Thus, the

businessman will set a goal of profit maximization and will adjust his output and price to achieve

his goal. The consumer will try to maximize his utility or satisfaction and will determine his

purchases in the light of his tastes for products and the relative prices of those products.

Do you know these words?

to determine определять
to take a decision принимать решение
profit доход

output объем производства

purchase покупка

УПРАЖНЕНИЯ

I. Найдите в правой колонке русские соответствия следующих слов :

assumption удовлетворение

utility цель

goal предположение

toachive полезность

satisfaction достигать

II. Переведите предложения на русский язык.

1. They will keep the tickets until your journey is completed.

2. She will go to the Baker Street station.

3. He will not go to the Baker Street station.

4. He will change trains at Piccadilly.

5. He will go to Piccadilly Circus.

6. He will return to the hotel later.

III. Раскрыв скобки, употребите глаголы в форме будущего простого времени.

1. I don't think this plant (to produce) good radios.

2. They think the new car (to be) very good.

3. If you speak English, you (to get) a better job.

4. When they introduce the new method, productivity (to rise).

5. If the company raises labour efficiency, it (to become) more profitable.

6. You (to like) Professor Smith's lectures in economics.

IV. Поставьте предложения из предыдущего упражнения в отрицательную и

вопросительную форму.

V. Найдите в тексте предложения, в которых используется Future Simple.

VI. Задайте 4 вопроса к тексту и ответьте на них.

Вариант №5.

ТЕКСТ 6

Economic Development

Economic progress in Sweden was rapid for most of the postwar period. The average

annual increase in GDP (Grass Domestic Product) was 3.4% in 1950s and 4.6% in the 1960s. This

strong growth was due to export successes. In the 1970s the average growth rate slowed down to

2.1%. In the last decade economic development improved and Swedish industry began to recover

from a recession.

Analysts tried to predict the economic development for the period between 1986 and 1995.
They expected Sweden‘s annual growth rate of GNP about 2.3%.

Do you know these words?

to be due to объясняться
rapid быстрый
recession рецессия, спад

increase увеличивать

GDP внутренний валовой продукт

average средний

УПРАЖНЕНИЯ

I. Найдите в правой колонке русские соответствия следующих слов :

growth успех

success развитие

toslowdown предсказывать, прогнозировать

decade рост
development десятилетие
to predict замедляться
II. Поставьте глаголы в форму Past Simple. Поставьте предложения в утвердительную

и вопросительную форму.

1. Не (wake up) at 11 o'clock.

2. Then he (hear) the church bell

3. One morning Fred McLean's alarm clock (not go off).

4.  It (be) Sunday.

5. He (see) a taxi, but there (be) someone in it.

6. He (knock) on the door, but no-one (be) there.

7. He (go) to the bus stop and (wait) for a bus but the bus (not come).

8. He (put on) his clothes and (run) out of the house.

9. So he (run) to work.

III. Раскрыв скобки, употребите глагол в форме прошедшего простого времени.

1. She (not/to be) at work last week. Her children (to be) ill.

2. The economist (not/to be) in his Moscow office yesterday.

3. The economist's prediction (to be) correct.

4. We (not/ to be) University students last year.

5. It (to be) difficult for me to learn English at school.

6. The data (not/ to be) correct enough.

7. The prices for the services (not/ to be) high at that time.

8. There (not/ to be) many plants in the area.

9. The prices for agricultural products (to be) low.

IV. Создайте предложения, используя формы Past Simple. Подчеркните
обстоятельства времени.

1. It is Friday. I (want) the stationery last Friday.

2. It is 1981. Peter (work) for BOS in 1979.

3. It is May. He (stop) work in January.

4. It is 10.05. I (answer) the telex at 10.00.

5. It is Monday. They (travel) to Scotland last Monday.

6. It is 11 o'clock. Simon (open) the mail at 10 o'clock.

7. It is November. Mr Passas (visit) BOS in October.

8. It is Thursday. Simon (post) the letter on Tuesday.

V. Найдите в тексте предложения, в которых используется Past Simple, укажите в них

подлежащее и сказуемое.

VI. Задайте 4 вопроса к тексту и ответьте на них. 
Вариант №6.

ТЕКСТ 7

Markets

Markets are usually judged in terms of their economic growth, that is, how well they have

contributed to the achievement of economic efficiency. Market performance is determined

fundamentally by the interaction of market structure and conduct. There are some parameters

which have a strategic influence on market performance: market conduct, market structure, public

policy. These parameters can be used by public policy-makers to improve market performance.

Do you know these words?

tocontribute вкладывать, делать вклад

efficiency эффективность

marketperformance деятельность рынка

conduct поведение

policy-makers специалисты в области политики

toimprove улучшать

УПРАЖНЕНИЯ

I. Найдите в правой колонке русские соответствия следующих слов:

achievement политика
to determine определять
interaction влияние
influence достижение

policy использовать

touse взаимосвязь

II. Вставьте наречия времени: just, already, never, yet, recently, lately.

1. The role of the service sector has increased ....

2. Most manufacturing industries have ... used intensive technologies for processing resources.

3. Economists have not given a full definition of economics.

4. Economists have ... developed three main approaches to economics.

5. - Have you got enough actual data to make a model... ?

— Yes. I have ... finished it.

6. Economists have ... included services that are provided by doctors and teachers in the primary

sector.

7. Economics has ... used models successfully to analyze some difficult economic problems.

8. — Has the economist made a proper decision ... ?

— No, he hasn't made it....

9. Microeconomics has... studied the problems of the whole country's economy.

III. Найдите глаголы в форме страдательного залога и переведите предложения на

русский язык. 
1. The famous London black cabs can be hailed in the street.

2. Some cabs are now painted different colours.

3. They are bound by the same strict regulations.

4. They are available for hire if the yellow light above the wind screen is lit.

5. For longer journeys the price is usually negotiated.

6. The minimum payable charge is shown on the meter when you hire the cab.

7. Mini-cabs cannot be hailed in the street.

8. Mini- cabs are not licensed.

9. They are usually ordered by telephone.

IV. Раскрыв скобки, употребите глагол в форме страдательного залога настоящего

простого времени.

1. The goods (to sell) at a high price.

2. English (to teach) at schools and universities.

3. The method (to use) in processing milk.

4. Goods for consumers (to provide) by industry and agriculture.

5. Workers (to employ) by firms.

6. Medicine (not/ to study) by school students but economics (to study) at school.

7. I (to ask) to help my grandmother work in the garden.

8. I (not/ to teach) music at the University.

V. Найдите в тексте предложения, в которых используется страдательный залог,

укажите в них подлежащее и сказуемое.

VI. Найдите в тексте все наречия.

VII. Выпишите из текста все существительные во множественном числе.

Вариант №7.

ТЕКСТ 8

Common Market
 In 1992 the European Common Market has 43 years of history behind it. The organization

established by six countries (France, Spain, Holland, West Germany, Belgium and Italy) has

grown to 12 member states. Few more countries want to join the Common Market.

It is a fact of modern life that some trade, economic, social, technological projects can not

be possible without international cooperation.

In the EC countries there are no trade barriers. The capitals and goods flow freely. Besides

their national currencies the member states have the common currency called ECU (European

Common Unit).

Do you know these words?

active market активный рынок
capital капитал
to capture the market захватить рынок
the Common Market Общий рынок
trade торговля
currency валюта

УПРАЖНЕНИЯ

I. Найдите в правой колонке русские соответствия следующих слов:

history свободно
to establish расти
to grow история
possible основывать

freely называть

to call возможный

II. Переведите предложения, обращая внимание на причастие II.

1.The price offered by the seller is too high. 2. It is a low-tech product made in Switzerland.

3. We speak about the dynamic Asian economy based on manufacturing. 4. Sales increased by

13% are the result of the company‘s new programme. 5. Today Britain has a mixed economy. 6. In the public sector of British economic life there are the nationalized industries such as coal and

steel.

III. В первом абзаце текста найдите сказуемое и объясните, какое время было

использовано.

IV. Составьте план пересказа текста. Перескажите текст по-русски.

Вариант №8.

ТЕКСТ 9

Allocation of products and resources

The pure market economy allocates products and resources without any government

control.

As to the command economy, practically speaking, it allows the government to act as a

dictator.

Fortunately a community or a country does not have to make a complete choice between

the two extremes: the market economy and the command economy. Instead it can compromise and have a mixed economy.

In a mixed economy three quarters of production is carried out by the private sector

through the market, though subject to varying degrees of government control. For the other quarter the government is directly responsible through the public sector. Thus the government influences the allocation of the goods and services produced.

Even in the USA, a stronghold of free enterprise, it has been found necessary to control or

regulate national income conditions.

As to Britain, today it has a mixed economy. In the public sector of British economic life

are the nationalized industries like coal and steel, British Rail and BOAC. In the private sector are the majority of the nation`s industries, both large and small, from giants like ICI and BP to small family businesses.

Do you know these words?

subject to подверженный
to allocate размещать
allocation размещение
to have to должен, вынужден
to carry out осуществлять
through через, посредством
to influence влиять

extreme крайность

УПРАЖНЕНИЯ 
I. Найдите в правой колонке русские соответствия следующих слов :

pure отрасль промышленности

toallow необходимый

toact ответственный

degree чистый

responsible позволять

necessary большинство

industry действовать

majority степень

II. Переведите предложения, содержащие причастие I. Обратите внимание на

принципы перевода причастия I.

1.The company‘s declining popularity in Japan is the most important problem in the coming years.
2. The market share of Toyota is 42.8 per cent, excluding mini-vehicles.

3. They are speaking about increasing prices.

4. There are many companies working in the same industry and geographical area. 5. Employees

of high skill migrate between businesses, seeking the best opportunity.

6. They can move out, relocating to a region where competition is less severe.

7. The increasing world demand is an important factor.

III. Раскройте скобки, употребив глаголы в Present Simple.

1. Economists (to study) situations from real life by means of economic models.

2. Economists (to be) interested in relationship between prices for goods and buyers' behaviour.

3. The buyer (to choose) goods for which he (to have) enough money.

4. He (not/to follow) our recommendations.

5. The manager (to make) decisions only after careful analysis of all the data.

6. She always (to buy) a lot of clothes.

7. The data (not/ to be) necessary now. K. The prices for fuel (to be) very high.

8. A consumer (to be) a person who (to buy) goods and services.

9. There (to be) several mining areas in this country.

IV. Переведите предложения на русский язык. Укажите, в каком времени

использованы глаголы.

1. Are you on business in London?

2. How long have you been in London?

3. I was in London in 1996.

4. We have just had lunch.

5. They are still having lunch.

6. We had lunch at 8 o'clock.

7. He works as a manager.

8. He is working at this company.

9. He worked at this company from 1990 to 1995.

10. He speaks French fluently.

11. He is speaking English now.

12. He spoke a lot at the conference.

V. Переведите предложения на русский язык, обращая внимание на временные

формы глагола.

1. The dollar rose where a fall had been forecast.

2. The figures added to the evidence that the American economy has resumed stronger growth.
3. The US deceleration is coming to an end.

4. The dollar was boosted by US construction spending for November.

5. With trading thin it sent sterling about a pfennig high.

6. It gained on strong consumer credit data and rising oil prices.

VI. Найдите в тексте предложения в Present Simple. Задайте к ним вопросы.

Вариант №9.

ТЕКСТ 10

Corporation

A corporation is a business organization authorized by the state to conduct business and is

a separate legal entity from its owners. It is the dominant form of American business because it

makes possible to raise large amounts of capital.

Before a corporation may do business, it must receive a charter from the state. The state

must approve the articles of incorporation, which describe the basic purpose and structure of the

proposed corporation.

The stockholders usually meet once a year to elect directors and to carry on other

important business. Each share of stock entitles its owner to one vote. A stock holder who cannot attend the meeting can legally authorize another to vote his or her shares by proxy.

Management of a corporation consists of the board of directors who decide corporate

policy, and the officers, who carry on the daily operations. The board is elected by the

stockholders, and the officers are appointed by the board.

Do you know these words?

to conduct business вести бизнес
to raise (money) собирать (деньги)

an article статья
a stockholder акционер
to carry on вести (дела)

stock зд.акции
by proxy заочно
to appoint назначать

УПРАЖНЕНИЯ

I. Найдите в правой колонке русские соответствия следующих слов:

state избирать

form встреча

toapprove государство

toelect совет директоров

meeting одобрять

board of directors форма

II. Вставьте необходимые модальные глаголы или их заменители:

(could, shall, be able, can, needn't, must, couldn't, should)

1. The goods ... not be shipped last week.

2. You ... remind us of your order, because the goods were already sent to you yesterday.

3. We ... handle the orders because we were pressed with time.

4. The faulty goods … to be replaced.

5.... you allow three days for shipment?

6. «... we discuss this question now?» - «No, we ...— We ... do it tomorrow.

7. I'm glad you ... come. 8. «... you ... to come and have dinner with us tomorrow?* - *I'd love to.»

8. «Please send them this catalogue. - «... I do it now?»

9. The payments ... be effected within 24 hours.
III. Переведите предложения на русский язык.

1. They couldn't explain anything.

2. You must make out the order in three copies.

3. Can you deliver the goods tomorrow?

4. The customers may take these free catalogues.

5. You should answer the letter immediately.

6. The contract must be signed by both parties.

7. Who must answer this enquiry letter?

8. The flight must arrive to Moscow at 10.

9. May we make changes in the contract?

10. I have an appointment. We must meet at 10 o'clock.

IV. Замените модальные глаголы из предыдущего упражнения соответствующими

эквивалентами.

V. Найдите в тексте предложения, в которых употребляются модальные глаголы.

VI. Задайте 5 вопросов к тексту и ответьте на них.

Вариант № 10.

ТЕКСТ 11

The Organization for Economic Co-operation and Development

Organization for Economic Co-operation and Development (OECD) is an international

organization whose membership comprises mainly the economically advanced countries of the

world. The OECD provides a regular forum for discussions amongst government finance and trade ministers on economic matters affecting their mutual interests, particularly the promotion of economic growth and international trade, and it coordinates the provision of economic aid to the less developed countries. The OECD is a main source of international economic data and regularly compiles and publishes standardized inter-country statistics.

The Organization for Economic Co-operation and Development has published a new set of

guidelines for multinational enterprises, setting out the ways in which its member countries would like these global corporations to behave.

Do you know these words?

guidelines рекомендации
to comprise включать
amongst среди
to affect влиять, воздействовать

would like хотели бы

matter дело

source источник

УПРАЖНЕНИЯ

I. Найдите в правой колонке русские соответствия следующих слов:

international данные
membership международный
mutual развитый
promotion членство
developed вести себя
data продвижение
to behave взаимный
II. Образуйте сравнительную и превосходную степень от следующих прилагательных и наречий:

1. large, tall, long, easy, hot, big, cold, nice, bad, strong, short, wide, good, happy, high, low, busy, well, little, many, far.

2. wonderful, necessary, quickly, interesting, comfortable, popular, active, famous, pleasant,

beautiful, slowly, clearly.

III. Раскройте скобки, употребив нужную степень сравнения

прилагательного/наречия: 
1. Shipping by sea is (expensive) than shipping by air.

2. Moscow is (large) than St. Petersburg.

3. What is (fast), train or plane?

4. We offer (low) possible prices.

5. We offer (good) prices than other firms.

6. It is one of (important) questions of our conference.

7. Your English is (good) now.

8. The goods must be (well) packed when they are delivered by sea.
9. The prices will be (high) next month.

10. Express delivery is (quick) way to send the goods.

11. The quality of the goods was (bad) than we expected.

12. Today unloading of the goods is carried on (slowly) than usually.

IV. Переведите предложения, обращая внимание на перевод слова most.

1. These are the most interesting books on economics.

2. Keynes is the most famous economist.

3. Most countries of Central Europe belong to developed countries.

4. Most reports at the conference were made in English.

5. Most of the time was spent on the analysis of the statistical data.

6. Most of his books were translated into other languages.

7. Most of these journals are bought by the university library.

V. Раскройте скобки:

1. Winter is (cold) season of the year.

2. Moscow is (large) than Tula.

3. Which is (long) day of the year?

4. The Alps are (high) mountains in Europe.

5. Even (long) day has an end.

6. It is one of (important) questions of our conference.

7. Your English is (good) now.

8. Who knows him (well) than you?

9. We have (little) interest in this work than you.

10. Health is (good) than wealth.

11. Victor worked (well) of all.

12. Today you worked (slowly) than usually.

VI. Найдите в тексте прилагательные. Переведите их.
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